fEA—T

R sz K % out IN GR HDCP | NET | &%

12 Rs £+ FA 38 36 14 5.6 | 68.4 | AE
AR RS P N SIEE 37 37 14 4.4 169.6 | AE

313z g HF 45 41 86 16.4 169.6 | AE

M1 hE = 41 41 82 11.6 |70.4 | AE

5z FiE B 46 317 83 11.6 | 71.4 | AE

61z HE IEF 39 36 15 3.2 | 71.8

i = FEE 48 45 93 21.2 [ 71.8 | ®RE

84z H B 38 35 13 0.8 [72.2 | BGE

Ofsz B A 40 39 19 6.8 | 72.2

1043z e ELT 45 40 85 12.8 | 72.2 | RE

114z JIi& IERE 43 41 84 11.6 | 72.4

124z A F— 44 39 83 10.4 | 72.6

134z HIE EHA 317 39 16 3.2 | 72.8

144z Bk E 40 42 82 9.2 | 72.8

154z FH ME 41 34 15 2.0 |73.0 | RE

164z il BHiE 43 38 81 8.0 | 73.0

174z 2E B# 43 38 81 8.0 | 73.0

184z Ht AR 41 40 817 14.0 | 73.0

194z B OB 45 41 86 12.8 | 73.2

201z HE ZTth 48 38 86 12.8 | 73.2 | #RE

214 #F 8hEA 42 43 85 11.6 | 73.4

2241 BEX SiF 46 38 84 10.4 | 73.6

2311 KEIT A 50 45 95 21.2 | 73.8

2441 ey B 41 35 82 8.0 |74.0

2541 NniE 1% 43 39 82 8.0 [74.0 | RE

264z A &= 46 41 817 12.8 | 74.2

271 mH E=E 41 45 86 11.6 | 74.4

2841 ZI R 44 42 86 11.6 | 74.4

2941 EE &R 39 40 19 4.4 | 74.6




304z NI IEAT 42 42 84 9.2 [74.8 | RE
314 FEH EX 45 44 89 14.0 | 75.0
3241 g B Al 45 44 89 14.0 | 75.0
331iL §I = 50 45 95 20.0 [ 75.0
3543 L SIS 45 1 86 10.4 | 75.6 | RE
374 L BF 47 41 88 11.6 | 76.4
3941 I]1p=- % 54 44 98 21.2 | 176.8
404iz A+ BF 56 54 110 | 33.2 |76.8 | RE
3R AKX B 45 40 85 8.0 [71.0
4241 KA HE 38 46 84 6.8 | 71.2
4341 mix T 48 42 90 12.8 | 71.2
4441 KEFIT IEX 52 44 96 18.8 | 71.2
45431 & AR 49 46 95 17.6 | 77.4 | RE
4641 A+t IEZEN 51 42 93 15.2 | 71.8
4741 mH RF 44 49 93 15.2 | 71.8
4861 | HBFHE EKF 54 51 105 |27.2 |7].8
4941 hE BB 46 46 92 14.0 | 78.0
501z & 18 60 53 113 | 34.4 | 78.6 | RE
514 L HFL 47 46 93 14.0 | 79.0
524 INK IEEE 49 39 88 8.0 |80.0
531 B8 EF 55 45 100 | 20.0 | 80.0
544i1 KT FX 54 48 102 |21.2 (80.8 | BBE
55131 XH @A 45 55 100 [15.2 | 84.8 | RE

BEAEWRYT

-BERIBL:HDCPBE -FREBKL -RLH-V:2-4-5-6-8-9 10-12-13-15-16-18




